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1- The native speaker's unconscious knowledge of the grammar of his/her

language is called.

aiad 2ol iy o DU 8 4all LY shlill 48y

A competence osWsll

B. syntax

C. performance

D. Linguistics

2- When Morphological rule that applied frequently to form new words is
said be

s ClalS JCa | S A gl ) sl sl 8 (ki Latie

A. Intuitive

B. Non-selective

C. Creative

D. Productive zlY!

3- refers to the speaker actual use of language ...............
aall ladl) Gaaaiall aladin) s

A. Performance s/aY!

B. Competence

C. Syntax

D. Linguistics

4- The main concern of generative grammar is to account for a child's
capacity to acquire ANY language on the basis of a core grammar called
A. universal grammar

B. word grammar

C. minimalist grammar

D. functional grammar

5- A tree diagram gives a(n) ..........uuue. representation of the constituents
of a sentence or a

. phrase

oJL.uJ\ o il Gl Sa
A. unsystematic

B. random

...... il xSl a1 8 jak



C. linear
D. Hierarchical«_¢!

6- Arabicisa (n)......ccoeeeees language
Wl A 4l

D. OVS
4 dsmie 0 — Jeli § — Jad V 4 el 4a)

7- Which of the component words determines the grammatical category
& sl Capiaill aaad 4 jall 4K 8 44IS 4

A. The rightmost or the leftmost word category

B. The leftmost word

C. The rightmost and the leftmost

D. The rightmost word¢sedl (sabl 8 a1

LU In English, inflection is

A eyl i g el

A. more productive than derivation GEEY) (e lals) JiS)

B. less productive than derivation

C. as productive as derivation

D. noun-based onlyA morpheme is the smallest unit of analysis in

9- e The derivation of a yes \ no question is in English
A salaiy) (Y [ aas Al d slaay)

A.ltoC

B. VtoltoC

C. Neither

D.lto

10- UNESCO illustrates

e Ji UNESCO 4xlS

A. an blend

B. an example of clipping

C.an acronym <&l Laiall

D. an example of backformation
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11- Which of the following illustrates' compounding
A. UN

B. prep-school

C. Wallpaper o) 2> 3.

D. e-learning

Greenhouse &l sl (& Gy )5 Glls)

12- ... A compound is a word that contains
O (ST AS el A<

A. one prefix and one word

B. one suffix and one word

C. two root morphemes and one word

D. two simple words or more S 3 dapw (iialS

13- The part of the word that makes the most significant contribution a
....... word meaning is

AN e b danlise ab) (oS5 3 sl (g3 ¢ 5al)

A. The base

B. The root_al!

C. The base and the derivational morpheme

D. The base and the inflectional morpheme

14- Affixes are

Gaal )

A. Free morphemes

B. Independent words
C. Bound morphemes
D. Base forms

15- Which of the following statement is correct
dania G lal) Lﬁ‘

A. The semantic head of a clause is |

B. The semantic head of a clause is V+I

C. The semantic head of a clause is V Jaill sa o jall IVall Ll )
D. The semantic head of a clause is C



16- How many allomorphs does the plural morphemes have
el i) gal 3k 45y )k (allomorphs) &S

A.one

B. two

C. three

D. four

17- When a morpheme changes the grammatical category of the root, it
is

Dl g il Caiatll yuay (g3 ad ) gall ) ala

A. derivationalswisy)

B. inflectional

C. functional

D. positional

18- Identify the FINITE verb in : 'John wants Mary to keep looking for a job

A. looking

B. to keep

C. wants

D. keep looking

Non FINITE verb  JVsudl (et Je (bl 1317 ddasDla
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